0.7i52 0122 &hutr] o] =2t 374

46 -1 = 3x 150|122 &43 ot 46 A =}2] 9] 2= 2
ojtt.




2
> £
> Het: 5

2 0.925925--- = 0.
57 = 0925925 0.925

99+3=33---0°]B& 5




£ ALt 7kl 243 ol 500 WA A2 0] A5 Fotefet

? = 2.714285

500 = 6 x 83 + 2 o] L&
A3 ok 9] 500 HA =At= =8vtt 9] 2 A 52} 1 o]t




=84S ~1.231453145 - - 9] =8ty A5 o, 257 oFf 100
Gk Z}ﬂJ 222 p et S, a+ b FHS Floiet

Ct -
= -

vV V¥

D8

B ~
-1.23145°| B2 &3] o] 22} 4 74
100-1 = 4x24+ 30|22 254 ofefl 100 1A 2] 9] £2t=
4o]t}.
La+b=38




3.12405 9] =ghipe] A % a, 257 ofell 50 A 222
et &, a4 b9 ke Foteiet.

i)

3.12405 0] B & &3hatt] o] 24} 4 7
50-1=4x12+10]B=g 443 ot 50 1A 2He] o] 2=

20|t}
La+b=06




== 0.714285714285 - - - = 0.714285 ©| B2 &=3lutt] o] £=2}9]
ME=7F 6 7folth. @+ 100 = 6 x 16 + 4 O] B2 AZF o}
100 A z}E] o] S=2t= A4H ot YA =pa] 9] S=2pe} At
wreha] 2 oot




&34 34579 A4 ot 100 A A Q] LA o, &84S
0.2345 9] 247 otef| 100 A #He] o] =25 pet & ul, a+ b2 G
“Fatozt,

> £

> =g 9

B ~
3.457 0|22 %=gtutt] o] 52} 371

100 =3x33+10|E2 g=4

0.2345 0] B2 ~3hutr] o] 52 27

100-2=2x490|22 p=15

La+b=9




_ . 15
ol obd o A2l A anag,as, - an O HHA 5= @+

az | 43 an ) o] 7ZFo
E+ﬂ§+m+uwf%~%ﬂmﬁwMWM+m+@y4§E
oto] 2t

b Ct

> ™E: 17

1 g .

% = 1.153846 |22 q; = 1 9|3 ay,as, as, as, dg, a7 = =4
= 44 obgl =gntd 1,5,3,8,4,6 °|t.

Eq-ﬂ-/\-] ay = ag = d1g = --- = dog = 1 O].T’_, 9B =6x17-4
olmg

as +ag+ajg+---+agg =1x17=17




27 = 2.857142857142 - - O] B2 67]2] S:27} HHE T} 20 =

6x3+20|B2 20 A 2] &A= 510|130 =6X5+0
olm=2 30 WA #F&] ] =2t 2 oft}. whEtbA| 2 7 oft},




i g prm derioe o, a4 ol 2 0 A0 4
=7
@ 2 @ 4 ® 5 @ 7 ®)s

53
— = 4.818181....
11 8

27+2=13---1 °|B2 &4 o 27 WA A2 9] & 8 o|tt




B4 2§ 4% Uebd o, 24 ofd 100 WA 218l 47

O @ 2 ® 3 @ 4 ® 5

7 = 0.857142857142 - = 0.857142 o] 2 & %=3lutr] o] £=2}.9]
A7t 6 7ot A 100 = 6 x 16 + 4 O] 22 A7 ofaf
100 WA 2t o] s22h= 243 of YA 2h2] o] sexket B,
kA 1 ol




12.

2 =
B 2 0] &g n i) AH1o] 48 X, 012 UL Xy + X+ X

o gre?

@ 218 (@)226 ® 231 @ 238 ® 239

2 ) . }
= 0.285714285 - - - = 0.285714 0| .2 Z=3F}utt] o] 5=} 6 7

50 = 6x 84 20|22
X1 +Xo+- 4 Xs0 = (24+8+5+7+14+4)x8+(248) = 226




